o(d dxy) (cm)

Rati

30%

=

0.954

=
Lﬂ_

1 0 1 2 3

T | ' ' '
o : : : :
N . . . .
— : : : :
N : : : :
© : : : :
o S N AR S
= : : : :
o : : : :
: : o -
e g o g T - @
B NG S S T T R S
- :
- T e o W _._":‘ - o

305

Rati
=

0.954
-3

2 1 0 1 2 3

—a=— DOM_mkFit_TToriginal

—o— DQM_mkFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-statErr
—— DQM_mkFit_TT_JanUpdate-systErr

mline)

..........................................................................

10 1 2 3
TP ® (PCA to beamline)

|
w

o(@p_Ip.)

10 1 2 3
TP ® (PCA to beamline)




	Contents
	Page 1


